10.235 4 0.5475000 = 10.7825.

Add —206.4868 to previous result. Updated result: -195.7043.

Sum of all numbers in the set {32.456,0.15, —25,48.7,92}: 148.30598.

10.235 — 0.5475000 = 9.6875.

Subtract —206.4868 from previous result. Updated result: 216.1743.

10.235 x 0.5475000 = 5.60367.

Multiply previous result by —206.4868. Updated result: -1157.08351.

10.235 + 0.5475000 = 18.69524.

Divide previous result by —206.4868. Updated result: -0.09055.

v10.235 = 3.19921.

V9 = 3.00000.

v/10.235 = 2.17104.

V8 = 1.9999.

Round 0.5475000 to 1dp: 0.5.

Truncate 0.5475000 to 1dp: 0.5.

Clip 0.5475000: 0.5475.

Minimum of 10.235 and 0.5475000: 0.5475.

Minimum value in the set {32.456,0.15, —25,48.7,92}: -25.0.

Maximum of 10.235 and 0.5475000: 10.235.

Maximum value in the set {32.456,0.15, —25,48.7,92}: 92.0.

Absolute value of —206.4868: 206.4868.

Negate value of —206.4868: 206.4868.

Mean of all numbers in the set {32.456,0.15, —25,48.7,92}: 29.6612.

Variance of all numbers in the set {32.456,0.15, —25,48.7,92} (using pre-
viously calculated mean): 1623.03413.

Variance of all numbers in the set {32.456,0.15, —25,48.7,92} (not using
previously calculated mean): 1623.03413.

Standard deviation of all numbers in the set {32.456,0.15, —25,48.7,92}
(using previously calculated mean): 40.28689.

Standard deviation of all numbers in the set {32.456,0.15, —25,48.7,92}
(not using previously calculated mean): 40.28689.



